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ExpectedValue[ x * 2, NormalDistribution| r 6], %]

BATEER . 6’
Mathematica 1&5A] 41T .

ExpectedValue[ (x — ;)" 2, NormalDistribution[ r 6], x]

IBATE R 36
(2) — T A= B HE 7= & 1 75 CLUAE ) IR X~ E (0. 2) (948 053 1 » IR 45 7K s
7 B S AR AR IR ] DL 9 T A A B — 1 i R 200 I8 T4 — A 7R i T 4
300 JC . R T8t — 1k dh BRI B I 2
AR B Y — A i i AE g (o) Sy
(* 300, O0<<ax<l1
g(x) :T
200, =1
Mathematica I5AJUN T :

g= — 300UnitStep[1 — x] +200UnitStep[x—1];
ExpectedValue[ g, ExponentialDistribution[0.2], x]

BATES R 109. 365

B TSP 5 Hy— 7 AR 109 365 7.
) WA A B 5 T % .

Mathematica I&AJ U1 T :

Mean[ PoissonConsulDistribution[ s 1]1]

BATER . /(1=
Mathematica 15A]U0°F .

Variance[ PoissonConsulDistribution[ r Al

Liﬁi%% u/(l—K)g
(4) % BIRMI0.27%] 95045545 . X =cos(B) .Y=cos(A+B) (A F%EE).X MY
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ML BB o=cos(A) . FEEMRM UL0. 2710 N ANBEHLEL. B N =100, %t )i A=0,
A= A= A=r PRI XY BRI LS o X B PTG S0
Mathematica &R A0F .

n=100,

covar[a ] :=Module[{}, t1 = RandomReal[ UniformDistribution[ {0,2Pi}],n]];
a=0;covar([al;

x[t ] =Cos[t];y[t_]=Cos[a+t];

txy = Table[ {Cos[t1[[i]]],Cos[a+ t1[[i]]]},{4i,n}];

gl = ListPlot[ txy, PlotStyle RGBColor[1,0,0],DisplayFunction Identity]
a="Pi/3;covar[al;

x[t ] =Cos[t];y[t ]=Cos[a+t];

txy = Table[ {Cos[t1[[i]]],Cos[a+ t1[[1]]]},{i,n}];

g2 = ListPlot[ txy, PlotStyle RGBColor[1,0,0],DisplayFunction Identity]
a=Pi/2;covar[a];

x[t_]=Cos[t];y[t_]=Cos[a+t];

txy = Table[ {Cos[t1[[1]]],Cos[a+ t1[[1]]]},{i,n}];

g3 = ListPlot[ txy, PlotStyle RGBColor[1,0,0],DisplayFunction Identity]
a=Pi;covar[a];

x[t_]=Cos[t];y[t_]=Cos[a+t];

txy = Table[ {Cos[t1[[i]]],Cos[a+ t1[[i]]]},{i,n}];

g4 = ListPlot[ txy, PlotStyle RGBColor[1,0,0],DisplayFunction Identity]

RIBCYCH ) A=0,A= "5 A= A=r i BRI OLEE 3. 1),

1.0 - LOp . ee et
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/"’ 0.5 :. 0.5 | .’
o'/ ' .\ - |
- . e
1.0 ~ - 10
1.0p . ~ 1.0
-~ \.' .
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0.5 . ~ 0.5
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1.0 0.5 0.5 1.0 1.0 0.5 e 0.5 1.0
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. ¢ .~
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MEIRETE R L 2 o[ 8RB X AY BIRPE R R EE R Y ol =1 BF . X T Y
ZIEAFTELME R TR Yol B/ X AY WL RE 2 K0 o=0 BF. X MY R
FHK .

(431

(1) SRZECH A=5 AR5 1 IR R )5 22

(2) SR I3 A5 B(10,0. 3) BYHAE 7 Z FdniE 2 .



